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The MTA beam line uses two fast ramped magnets for extraction of beam from the LINAC into the beam line. The MAD deck gives the following bend angles for each;
· LCA 0.05102 radians
· LCB 0.13350 radians
To calculate the current I used the formula

Where the variables: Bdl is in kiloGauss meters, p is 0.954262856 GeV and Θ in radians. This then yields the integral field as;
· LCA 1.62284 kiloGauss meters
· LCB 4.24656 kiloGauss meters 
For the excitation functions I go to 
LCA
http://wwwtsmtf.fnal.gov/~dgcw/usranalysis/LCA/LCA001-0/special/hr_good_harms.4395333

LCB
http://wwwtsmtf.fnal.gov/~dgcw/usranalysis/LCB/LCB001-0/special/hr_good_harms.4396221


[bookmark: _GoBack]When I use these to calculate the currents I get LCA at 1378 amps and LCB at 1694 amps. Both magnets are on the same power supply with no shunts and must run at the same currents. Furthermore the restore file we have from last April has a value of 1490 amps. Something is not right, either the excitation functions or the MAD deck. I only have data for lower currents do these magnets saturate around 1400 amps?
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